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Roll Number                         SET B 

1.a Correct difference  - 2 mark each 2 

 b) Iostream.h   iomanip.h   (½  mark each) 1 

 c) Four corrections  ( ½  mark each) 2 

 d) 9 17 39  17 42  21 (½  mark each) 3 

 e) W  
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  ( ½  marks each ) 

2 

 f) M.tech will never be displayed and MCA will always be displayed –( 1 mark )   
Minimum val -1 Max val- 3  (1 mark) 

2 

 INDIAN SCHOOL MUSCAT 
SECOND PRELIMINARY EXAMINATION MARKING 

SCHEME 

 

 SUBJECT : COMPUTER SCIENCE  

CLASS: XII Sub.Code: 083 Time Allotted: 3 Hrs. 

13.02.2019  Max.Ms: 70 



Page 2 of 3 
 

2 a) Correct definition – 1 mark each 2 

  b) i) destructor, when the object goes out of scope - 1 mark 
ii) Complex C(12,30). Function 3 is invoked at the end of program. - 1 mark 

2 

 c Class definition carries ½ mark 

chkfee() carries 1 mark 

enrollment() carries ½ mark  and call of chkfee() carries ½ mark 
display() carries ½ mark  

4 

d 
 

a) Multi level Inheritnace  (1 mark) 
b) None (1 mark) 
c) Wallarea,colourcode,type,advance  (1 mark) 
d) Billing(),Print(),PBook(),PView(),Book(),View() (1 mark) 

 
                        OR 

(1 M for correct syntax for derived class header)  
 (1 M for correct declaration of data members)  
(2 M for defining the functions )        
 

4 

3 a (½ M for correct loops)  
(1 M for correct logic)  
( ½ M for displaying )  

2 

  b ( ½ M for correct function header) 
 (1 M for correct loops)  
(1 M for correct logic )  
( ½ M for display )  

3 

c) (1 M for correct formula & step calculations)  
(1 M for final correct address)  

3 

d) (2 M for creation & correct declaration)  
(2 M for correct steps inserting)    

4 

  e) Ans = FALSE 
1 m for correct answer and 1 m for showing the stack status 
   OR 
20  
 1m for correct answer and 1m for showing the stack status.                             

2 

4 a (½ M for opening  files  correctly)  
(½ M for reading each Word from the file)  
(½ M for logic )  
(½ M for display)  

2 

b (½ M for opening file correctly)  
(1 M for reading each record )  
(1 M for searching for the record )  
(½ M for displaying )  

3 

c ½ m each for definition & correct stream 
f.seekg(9*sizeof(CAR),ios::beg); 
or  
f.seekg(0,ios::end); 
Bytes=f.tellg(); 

1 
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5 a. i) Bookid– 1 mark  
iii)degree – 3 , cardinality – 4 ( ½ mark each) 

2 

 b. 1. SELECT NAME FROM GRADUATE WHERE DIV='I'  ORDER BY NAME; 
2. INSERT INTO GRADUATE VALUES(11,'KAJOL',300,'COMP. Sc.',75,1); 
3.         SELECT NAME, ADVISOR FROM GRADUATE,GUIDE WHERE GRADUATE.SUBJECT= 

GUIDE.MAINAREA; 
4.         SELECT MAX(AVERAGE) from GRADUATE group by DIV; 
5) 63 
6) 800 
7) 420 

8) 4 
 

4+2 

6 a. Statement: 1 mark , Proof : 1 mark 2 

  b. Correct diagram : 2 marks 2 

  c. SOP - 1 mark            
        

1 

  d. K-Map drawing – 1 mark, Correct grouping – 1 mark , Reduced expression – 1 mark 3 

7.a. Correct definition – 2 marks 2 

  b. Any one advantage – 1mark 
 

1 

  c. Definition cookies – 1 mark 1 

  d. FTP  - File Transfer Protocol(1 mark)        ii)GPRS– General Packet Radio Services  (1 
mark) 

2 

  e. i) HR center with proper justification-  
ii) Bus , star layouts drawing – 1 mark 

iii) Switch/Hub – 1 mark 
iv) WAN – 1 mark       

4 

 End   

 


